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QUESTION 1

Server console comands are used to see server events as they happen. Which of the commands cannot display
information on whether DAOS is enabled or not

A. Show Tasks

B. Show server

C. Show Stat DAOS
D. show directory

Correct Answer: A

QUESTION 2

The router in Domino 8.5 utilizes cached and additional copies of messages to be delivered. How is this approach
applied to a message destined for multiple recipients?

A. The router opens each full note to discover the additional recipients
B. The note is copied in the mailbox and prepared for delivery by the router
C. Additional copies of this message are made as needed for multiple recipients

D. The message is delivered by the router to one individual, and then the router queries the mailbox file for the next
recipient

Correct Answer: C

QUESTION 3

Mailbox event notification is also a router optimization, and it means when the router in Domino is running in a steady
state and a new message is deposited in MAIL.BQX, a copy of the message is made and placed on a mailbox event
gueue which is then used by a new MailEvent thread in the router. The router can use the copy of the message for what
purpose?

A. Makes extra copies of the note for delivery to multiple recipients.

B. Discover new messages or transfer notes without fully opening them for delivery.

C. Discovers new messages, but requires a search of MAILBOX and a full note open to deliver the

message.

D. Delivers new messages without a full note open, but requires a search of MAILBOX in order to discover new
messages.

Correct Answer: B
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QUESTION 4

Which of the following are options utilized to provide the communication mechanism used by the server to exchange
automatic synchronization messages with the device client?

A. UDP or ICMP
B. ICMP or SMS
C. SMS or TCP Network
D. TCP Network or ICMP

Correct Answer: C

QUESTION 5

To force encryption on DAOS storage, which of the following notes.ini entries must be in place on the server?
A. ENCRYPT_DAOS=2

B. DAOS_ENCRYPT_NLO=1

C. ServerNDLEnNcrypt=1

D. DAOSServerStoreEnc=0

Correct Answer: B
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